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def euler(x0, v0):
vl =v0-g*dt
x1 =x0 +v0 *dt
return x1, v1
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import matplotlib.pyplot as plt

def my_plot(xx, vv, tt):
plt.plot(tt, xx, color = 'b', linestyle="--',label="height")
plt.plot(tt, vv, color = 'r', label="velocity")
plt.legend()
plt.xlabel('time")
plt.ylabel('height and velocity")
plt.grid()
plt.show()

#g, dt =9.8, 0.01

g,dt=9.8,0.1

tt,xx,vv=[0.0],[10.0],[0.0] #for compare rain_drop
#tt,xx,vv=[0.0],[0.0],[9.8]
#tt,xx,vv=[10.0],[0.0],[0.0]

t=0.0

foriin range(0,250): #250 for compare rain_drop
t+=dt
X, v = euler(xx[-1],vv[-1])
tt.append(t)
xx.append(x)
vv.append(v)

# print(xx)
# print(vv)
my_plot(xx, vv, tt)
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from sympy import *

v, f = symbols('v f', cls=Function)

cc, t, m, X, g= symbols(‘cct mx g')

# dsolve(f(x).diff(x, x) + f(x), f(x))
dsolve(v(t).diff(t)+cc/m*v(t)+g,v(t))

_ —gm+ (%)

u(t)

cc

def euler2(x0, v0):
vl =Vv0 + (-cc * vO-g) * dt
x1=x0+VO¥dt"
return [x1, v1]

g, dt, cc=9.8, 0.01, 1.0
# tt,xx,vv=[0.0],[0.0],[-10]
tt{xx)vv=[0.0],[10.01,[0.0]
t=0.0
foriin range(0,500):
t+=dt
X, v =euler2(xx[-1],w[-1])
tt.append(t)
xx.append(x)
vv.append(v)

my_plot(xx, vv, tt)
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Free oscillation
mass-spring system
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def euler3(x0,v0):
vl =v0 +=k* *xO!*dt
x1 =x0 +v0 *dt
return [x1, v1]

t, dt, k=0.0, 0.01, 0.01
tt,xx,vv=[0.0],[0.0],[0.01]
foriin range(0,100000):
t+=dt
X, v = euler3(xx[-1],w[-1])
tt.append(t)
xx.append(x)
vv.append(v)

my_plot(xx, vv, tt)
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t+=dt

X, v = ode(xx[-1],vw[-1])
tt.append(t)
xx.append(x)
vv.append(v)

def runge_kutta4(x0,y0,z0,h):
k1= h* ff(x0, y0, z0);
11=h * gg(x0, yO0, z0);
k2=h*ff(xO + h/2,y0 + k1/2,z0 +11/2)
12=h*gg(x0+h/2,y0+k1/2,20 +11/2)
k3=h* ff(x0 + h/2,y0 + k2/2,z0 +12/2)
13=h*gg(x0 +h/2,y0 +k2/2,20 +12/2)

my_plot(xx, vv, tt)

kd=h*ff(x0 +h, yO+k3, z0+I3) 003 |
14=h*gg(xO +h, yO+k3, z0+13)
kk=1.0/6*(k1 + 2*k2 + 2*k3 + k4) 0.02 4
ll=1.0/6*%(11 + 2*12 + 2*I3 + 14) .
return [Kk,|I] S o011
O]
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def ff(t,x,v): <
return v
dr 1 d?r
def gg(t,x,v): t+h)=7(t)+—-h+=——=h+ O
return -k*x ( jr_) r(t) + dt T 2 de2 +O(r°)
def ode(x0, v0): & +
kk,Il = runge_kutta4(0, x0, vO, dt)
x1 =x0 + kk dr 1 d2%r
vl =vO0+Il T(t*h):T(t)*—h‘F_—zh‘f*O(hs)
return [x1, v1] .- dt 2 f.if.
t, dt, k=0.0, 0.1, 0.1 TOM%EES>TEREZERLT, 7(t +h)OVWTRWT, d’r/dt? = F/mEeRAT2E,
tt,xx,vv=[0.0],[0.0],[0.01] I —_—
foriin range(0,10000): T
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L=(xkx+yxy)**x(3/2)

force=[-x/L,-y/L]
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import matplotlib.pyplot as plt

def force(pos):
x=pos[0]
y=pos[1]
L=(x*x+y*y)**(3/2)
return [-x/L,-y/L]

def Verlet(rO,rh):
f=force(r0)
x=2*r0[0]-rh[0]+h**2/m*f[0]
y=2*r0[1]-rh[1]+h**2/m*f[1]
return [x,y]

h=0.04

dx, dy=0.0, h

m=0.2

xx=[2.0, 2.0-dx]

yy =[0,-dy]

foriinrange(1,90):
x1,y1 = Verlet([xx[-11,yy[-1]1],[xx[-21,yy[-2]])
xx.append(x1)
yy.append(y1)

plt.plot(xx,yy,'o",color="r")
plt.show

<function matplotlib.pyplot.show(close=None, block=None)>
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B R
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RLC circuit

dv
m— = —m
dt g

C:avsyyvH— *
[FQ L pdQ  Q
R+ 5=V
] Laqn Cae c="
R:AEHT {L;’,{+R[+d8 =V

def euler_rlc(qO, i0):
i1=i0+(v-r*i0-qc*q0) *dt
ql =q0 +i0 *dt

return [q1,i1]

aAvFyy—(C),av5 05 —(L)&1& LT, EREE0S5E LT, ANBEEIVERELT
Y=Ll F2ERMEBROENEED D IcDIRORTY.

dt, r, qc, v=0.01, 0.5, 0,1

ii=[0.0]
qg=[0.0]
tt=[0.0]
t=0
foriin range(0,2000):
t+=dt
q, i2 = euler_rlc(qq[il,ii[i])
tt.append(t)
qg-append(q)
ii.append(i2)

my_plot(qa,ii,tt)
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ARNBEZOV, AVTUH—ICHENUHIT—OVEFHIER
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dt,r,qc,v+0.01,1.0,1,0
ii=[0.0] -
qo=[1.0] € A% 7 Y
tt=[0.0]

t=0
foriin range(0,2000):

t+=dt

q, i2 = euler_rlc(qq[il,ii[i])
tt.append(t)

qg-append(q)

ii.append(i2)

my_plot(qa,ii,tt)
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